$$\frac{E_{x} 1:}{\sum e_{x} Px}.$$

$$\frac{E_{x} 2:}{X = 3} = e_{x} - e_{y} + e_{x} + + e_{x$$

$$F_{x}(x) = \begin{cases} 0, & x < 2 \\ \frac{x-2}{4}, & x \in [z, 6] \\ 1, & x \ge 6 \end{cases}$$

$$E_{x} 3:$$

$$U_{sny} flu definition of expectation,$$

$$E[x^{n}] = \int_{0}^{1} x^{n} \left(x^{2} + \frac{2}{3}\right) dx$$

$$= \int_{0}^{1} x^{n+1} dx + \frac{2}{3} \int_{0}^{1} x^{n} dx$$

$$= \frac{1}{n+3} \left|x^{n+3}\right|_{0}^{1} + \frac{2}{3} \frac{1}{n+1} \left|x^{n+1}\right|_{0}^{1}$$

$$= \frac{1}{n+3} + \frac{2}{3} \frac{1}{n+1}$$

 $\begin{aligned} & \text{Recall fluf} \\ & \text{Vas}(X) = \text{I}\left[\left(X - \text{I}[X]\right)^2\right] = \text{I}\left[X^2\right] - \left(\text{I}[X]\right)^2, \\ & \text{Versy flue Geod form above, we have} \\ & \text{Ver}(X) = \frac{1}{2+3} + \frac{2}{3} \frac{1}{2+1} - \left(\frac{1}{1+3} + \frac{2}{3} \frac{1}{1+1}\right)^2 \\ & = \frac{1}{5} + \frac{2}{3} \cdot \frac{1}{5} - \left(\frac{1}{7} + \frac{2}{3} \cdot \frac{1}{2}\right)^2. \end{aligned}$

$$E_{X} \frac{d}{dt} := P(Y \in y) = P(e^{-X} \in y)$$

$$= P(-X \leq |-y|y)$$

$$= P(X \geq -|-y|y)$$

$$P(X \geq -|-y|y)$$

$$P(X \geq -|-y|y) = |-P(X \leq -|-y|y)$$

$$= |-F_{X}(-|-y|y)$$

$$= |-F_{X}(-|-y|y)$$

$$= |+|-y|y)$$

$$This holds for $X \in [e, 1], e^{-x}$ equivalety for $Y \in [\frac{1}{2}, 1], \sum_{i=1}^{\infty} F_{Y}(y) = \begin{cases} 0, & y \leq \frac{1}{2} \\ 1 + (-y|y), & y \geq 1 \end{cases}$$$

~

b) To find the PDF, differentiate the CDF

$$f_{y}(y) = \frac{d}{dy} f_{y}(y) = \begin{cases} \frac{1}{2}, & ye[\frac{1}{2}, i] \\ 0, & else \end{cases}$$

Ex S:
Given flat
$$X \sim Exp(A)$$
, we have
 $F_X(x) = \begin{cases} 0, & x(0) \\ 1 - e^{-Ax}, & x \ge 0 \end{cases}$

Now note that

$$F_{Y}(y) = P(Y \leq y) = P(a \times y)$$
$$= P(X \leq \frac{y}{a})$$
$$= F_{X}(\frac{y}{a})$$
$$= \int_{x}^{0} \int_{x}^{y} \int_{x}^{y} \int_{x}^{y} \int_{x}^{0} \int_{x}^{y} \int_{x}^{0} \int_{x$$

which is the CDF of a $Exp(\frac{\pi}{2}) RV$.

$$\overline{G_{X} 6}$$
:
c) This is an excepte of a mixed (continuous and discretel
 \overline{RV}_{i} where we have a point mass of $X = 0$. Lef
 $\overline{Z} \sim \overline{Exp}(2)$. Then
 $f_{X}(x) = 0.02 S(x) + 0.98 f_{Z}(z)$

5)
$$P(X \ge i) = \int_{1}^{\infty} f_{x}(x) = \int_{1}^{\infty} 0.98 \times 2e^{-9x} dx = 0.98 e^{-2}$$

$$c(P(X>2|X>1) = \frac{P(X>2 \land X \ge 1)}{P(X\ge 1)}$$

$$= \frac{P(x>2)}{P(x>1)} = \frac{0.18 \cdot 2e^{-4}}{0.78 \cdot 2e^{-2}} = e^{-2}$$

$$A = [x] = 0.02 \times 0 + 0.98 \notin [z], \text{ where } Z \sim Eq(z)$$
$$= 0.98 \times \frac{1}{2} = 0.49$$
$$E[x^{2}] = 0.02 \times 0 + 0.98 \# [z^{2}]$$
$$\text{For } \alpha = Eqp(A) RU, \text{ we know}$$
$$E[z] = \frac{1}{2} \quad \text{and} \quad vow(z) = E[z^{2}] - (E[z])^{2} = \frac{1}{2}^{2}$$
$$S = \# [z^{2}] = vow(z) + (\# [z])^{2}$$
$$= \frac{1}{2}^{2} + (\frac{1}{2})^{2} = \frac{2}{3^{2}}$$
Therefore

$$F[X^2] = 0.98 \times \frac{2}{4} = 0.49$$

and

$$v_{es}(X) = 0.99 - (0.99)^2 = 0.2499$$

Ex 7:
We'll use Jensen's mequality and the MGF. First note that

$$e^{x}$$
 is convex and moreasing. Hence by Jessen's inequality
 $e^{x} E[Y] \leq E[e^{xY}] \qquad MGF!$
 $e^{x} E[Y] \leq E[e^{xY}] \qquad MGF of Gaussian$
 $e^{y} = Ne^{\frac{y}{2}} \qquad MGF of Gaussian$

Now take the log of both sides to get $A E[Y] \leq \log n + \frac{4^2 T^2}{2}$ $A E[Y] \leq \frac{\log n}{4} + \frac{4 T^2}{2}$

This holds for any
$$A > 0$$
, so we can choose the A that gives
the fightest bound. The arithmetic mean - geometric mean (AM-GA)
requelity fells us that
 $\frac{\log n}{A} + \frac{A t^2}{2} \ge \sqrt{\frac{\log n}{A} \frac{A t^2}{2}}$
 $= \sqrt{\frac{\log n}{2}}$

with equality when

$$\frac{\log n}{2} = \frac{4\tau^2}{2}$$
.

Solving for
$$A$$
 gives
 $A^2 = \frac{2 \log n}{\sqrt{2}} \Leftrightarrow A = \frac{1}{\sqrt{2 \log n}}$

Plugging back in gives

$$E[1] \leq \sqrt{\frac{\log n}{12 \log n}} + \frac{\sqrt{2}}{2} \sqrt{2 \log n}$$

 $= \sqrt{2 \log n}$
where we note that $\frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$.

Ex 8:
Although difficult to see, this problem relies on the trick of
thinking about the complement of an event. We're after
the distance from a readon point
$$Z$$
 to the reasest star.
 $Z = \frac{1}{\chi = distance}$

$$F_{X}(x) = |-P(X > x)$$

= $|-e^{\frac{4}{3}\tau_{1}x^{3}}$

Differentiating gives

$$\int_{X} (x) = 4\pi p x^{2} e^{-p^{\frac{4}{3}\pi x^{3}}}$$

$$F_{X_{1}} \frac{9}{9}$$
You are served by teller (if $X_{1} < X_{2}$, so we are after
$$P(X_{1} < X_{2}).$$
Since X_{1} and X_{2} are independent, we have that
$$f_{X_{1} \times X_{2}}(x_{1}, x_{2}) = f_{X_{1}}(x_{1}) f_{X_{2}}(x_{2})$$

$$= \lambda_{1} e^{-\lambda_{1} \times 1} \lambda_{2} e^{-\lambda_{2} \times 2}.$$

There fore

$$P(X_{1} < X_{2}) = \int_{X_{1}=0}^{\infty} \int_{X_{1}=0}^{X_{2}} \lambda_{1} e^{-\lambda_{1} x_{1}} \lambda_{2} e^{-\lambda_{2} x_{2}} dx_{1} dx_{2}$$

= $\int_{X_{1}=0}^{\infty} \int_{X_{1}=0}^{\infty} \lambda_{1} e^{-\lambda_{1} x_{1}} \lambda_{2} e^{-\lambda_{2} x_{2}} dx_{2} dx_{1}$
= $\int_{X_{1}=0}^{\infty} \int_{X_{1}=X_{1}}^{X_{1}=0} \lambda_{1} e^{-\lambda_{1} x_{1}} \lambda_{2} e^{-\lambda_{2} x_{2}} dx_{2} dx_{1}$

Both ase from, but the second is easier to evolute.

$$= \int_{X_{1}=0}^{\infty} \lambda_{1} e^{-\lambda_{1} X_{1}} \lambda_{2} \int_{X_{2}=Y_{1}}^{\infty} e^{-\lambda_{2} X_{2}} dx_{1}$$

$$= \int_{X_{1}=0}^{\infty} \lambda_{1} e^{-\lambda_{1} X_{1}} \lambda_{2} \left(-\frac{1}{\lambda_{2}} e^{-\lambda_{2} X_{2}} \int_{X_{1}=Y_{1}}^{\infty} dx_{1}\right) dx_{1}$$

$$= \int_{X_{1}=0}^{1} \lambda_{1} e^{-\lambda_{2} X_{1}} \int_{X_{2}=X_{1}}^{\infty} dx_{1}$$



